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Writing and Graphing Inequalities in Real-World

Problems

For each question, write an inequality. Then, graph your solution.

1. Keisha needs to make at least 28 costumes for the school play. Since she can make 4 costumes each week, Keisha
plans to work on the costumes for at least 7 weeks.
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2. If Keisha has to have the costumes complete in 10 weeks or fewer, how will our solution change?
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Write and graph an inequality for each problem.

1. Atleast 13. . . . . . ‘ . . . ’ .
10 11 12 13 14 15 16 17 18 19 20
2. Lessthan7.
2 3 4 5 6 7 8 9 10
3. Chad will need at least 24 minutes to complete the 5K race. However, he wants to finish in under 30 minutes.
22 24 26 28 30 32
4. Evasaves $60 each week. Since she needs to save at least $2,400 to go on a trip to Europe, she will need to save for
at least 40 weeks.
256 30 35 40 45 50 55
5. Clara has $100. She wants to buy 4 pairs of the same pants. Due to tax, Clara can afford pants that are less than
$25.
22 23 24 25 26 27 28
6. Agym charges $30 per month plus $4 extra to swim in the pool for an hour. Because a member has just $50 to
spend at the gym each month, the member can swim at most 5 hours.
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For each question, write an inequality. Then, graph your solution.

1. Keisha needs to make at least 28 costumes for the school play. Since she can make 4 costumes each week, Keisha
plans to work on the costumes for at least 7 weeks.

x =7

Keisha should plan to work on the costumes for 7 or more weeks.
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2.  If Keisha has to have the costumes complete in 10 weeks or fewer, how will our solution change?

Keisha had 7 or more weeks in Problem 1. It will still take her at least 7 weeks, but she cannot have more than 10
weeks.

7<x<10

Write and graph an inequality for each problem.
1. Atleast13.

x=>13
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2. Lessthan?7.

X <7

3. Chad will need at least 24 minutes to complete the 5K race. However, he wants to finish in under 30 minutes.

24 <x<30
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4. Evasaves $60 each week. Since she needs to save at least $2,400 to go on a trip to Europe, she will need to save
for at least 40 weeks.

x =>40

! - ; @ >
25 30 35 40 45 50 655

= This work is licensed under a
Q2014 GommoniCone; NG SOMEHEhts resened commioncoreiors, —(cc BY-NC-SA Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported License.




Clara has $100. She wants to buy 4 pairs of the same pants. Due to tax, Clara can afford pants that are less than
$25.

Clara must spend less than $25, but we also know that Clara will spend more than $0 when she buys pants at the
store.

0<x<25 e : ~
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A gym charges $30 per month plus $4 extra to swim in the pool for an hour. Because a member has just $50 to
spend at the gym each month, the member can swim at most 5 hours.

The member can swim in the pool for 5 hours. However, we also know that the total amount of time the member
spends in the pool must be greater than or equal to 0 hours because the member may choose not to swim.

0<x<5
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